4

YL WhOh hwdwybph nGyuqup

<< PhlwlubGbph Gwiuwpwnh
2013 pquwilwGh hnyutaptnh 10-h N 896-L hnwiswah

Lwunwinn /na‘

/4

<20>> Gnyiiptinh 2023p

L MGwnpnywy/

u.s.
QuLNIULGENh ONONYUT TLUL
ugynn qnuiGbph nbwpniy
Nwuwnyhpwnni( Upwpwinh dwpgh 4. Whuh gnLnuubknwnw
(pun pruglinughts dustuutinh Gbpunnbusulpul nuliungdud)
Opwahpp
Ubywiniip unwywnpuuwil Jwnpulh wwhwjwlncd
pwdhl 01 funudp 01 nwu 01 dpwahp 51 I | ]
(o prmpbunughl St anpdwebulwt UG Iu)
g
QUUnn wuwnwhpGtph, u Clnwitk
ownwynipinLGGEph LUwpwbpltph, swewjnipinitbph L Quowd |dhuwynn Uhwdnph|  @p
W2luwinwbpltinh|wfuwinwbpltinh woywniakpg putn alp nuw ahln  [qgnudwpp
dhowbghy Ynnp puin|inbnblwnnth ity (npwind) | (hwaq.
nbnbYwinnth . npwad) | Pwhwy
3 4 5 6 7
SrELUYUL MhsSNFSELEN I
QPUULL3UYUSHL UMrULeLE
30197631|@nLnp A - 4 uu tnntth 3000 120.0 40
22851100| Bnpwwwliwy wpwqwlwn uu hwn 100 1.0 10
39264100| Bnpewjwliwy Unow /nkghunp/ Uu huwin 1000 3.0 4
39264100 Bnpwwwliwl Ynown yuwwbpny uu hwn 600 1.2 2
30197231 | @npwwwliul duy uu hwtn 10 2.0 200
22811170|Upnwdubiph pnLne Yusnil Ul untth 250 25 10
30199421 |pnLnss, Upnudlbnh hwdwn uu wintth 1000 1.0 1
39263310|onwignyyg, ubnuwiuh Uu hwin 600 1.8 3
24910000|Unuhlé uu hwtn 150 1.5 10
30192100| Ntnhl uu hwn 50 0.5 10
30192130| Uwinhwn uu hwin 100 1.0 10
30192122|Qnhs Uu hwn 100 3.0 30
39263200 | gnuwubljwywiht ghnp Uu hwn 650 1.3 2
39263200 |gnuwublywlyuwyhlu ghpp. Jwuwnjwl, Uu hwun 800 1.6 2
30192160|Twnhhu uu hwitn 200 2.0 10
30197110|Uutin /unbuytn/ uu unith 100 1.0 10
30141200 hwoyhs Utipblw uu hwtn 2000 4.0 2
30211110| npny uu hwtn 2000 16.0 8
30199231 |Dpwip U -4 $npdwinh uu hwin 200 2.0 10
30192128| gbijwyhl gphs uu hwuwn 1000 2.0 2
39241210 |dypwuin Ul huwiun 1600 1.6 1
30237411|Uluhy uu hwn 2500 5.0 2
30237470 uintinlwpwpn, unwanwnn, 104 Undwyny] UU hwtn 5000 5.0 1
Spwliuwynpuughl UynLptn
9132200| pklgh, REgnLywn Uy npwdy 450 540.0 1200
ubipthwbph L npwGg 2wndhsbtph wi
34300000 dwubin b wwipwquwiGhn uu | W 1 60.0 1
Stubuwlwl,uwl hhqBuhy WnLpkn
39221410| Uk Uu hwn 1000 10.0 10
39831240| Uwjwyh 14.hknncy Uu hwn 600 6.0 10
33141118 | funuwy wléknnghl uu hwin 600 2.4 4
39800000 Suinbuwlywl dbinungltn Uy hwiun 300 6.0 20
39711310 EjEyunpwlwl phjupl uu hwin 5000 5.0 1




39831271 uwnilg uwahwnwnwhhghbGhy uu hwuwn 50 1.0 20
39525800|thnoh dwipnbinL gnpédwsp Ul hwn 100 1.0 10
33761000| gniqupwlh BB 9]8] hwin 100 8.0 80
39831242 \Jwgph thnoh, abnpny Jwiliwnt huudwp uu tnntth 600 1.8 3
33711900|Qtnph htnnty obwn uu hwn 550 3.3 6
39831210 uwwuph |Ywgdwh hbnnty uu hwtn 500 2.0 4
33141118| whdbrnghlylbnp uu huwin 250 37.5 150
24311900 dwit) uu Lhinp 100 2.0 20
33692000/ nhJwy pdolwilywils uu hwn 30 6.0 200
33692000 hwydwlptEuwhl uthpt uu lhinp 2000 10.0 5
39835000| nny| hwinwy dwppbint snnny dw hwn 8000 8.0 1
39224342| wnpwpynbp, SEwwnw uu hwtn 5000 10.0 2
hwiinncl by wyg UjniLpkp
2hlwpwpnipjwl ke ognwgnpéynn o
44420000 wiynwiGpGtn uu | M 1 100.0 1
zhGwnwpnipiwl 669 Ghnwrgnn 5
44330000{ hiyunhliGbn. wewlaoeisn uu s 1 100.0 1
GHTOTTEUGTT, TiagayT, POOTTarTTOG]T,
aasoogoo] 11MPECER winugn nuu e, vu | "™ 4 | o0 |
unuanreanru
79995100 |thwunwpnebph wphuhdwgned Uu npuil 1 300 1
50110000 |Jbptlwilbph L uwppwynpnwdutin Unpngn uu npwid 1 300.0 1
72200000|Bpwgnbph uuuwpyned Ul npuwiid 1 700.0 1
64211120|Dhpudws hbnwhinuwlww uu npwad 1 80.0 1
65310000 EL.EUGpghw uu npwy 1 3200.0 1
65111000{fudtinL pnip Uu npwyg 1 18.0 1
85320000 nGnwunhqugLhuw Uu npwd 1 42.0 1
66514 100| Swnuwynnuiwl wynnd UNMU-h gnidwn Uy npwy 1 30.0 1
92410000|ptppEnh PwdwlnpnuagpnLpjwLl Uu npwdy 1 250.0 1
98390000 owin.wyw.wnbhu.gulinud uu npwd 1 30.0 1
qunid shwiinhuwgnn dwhuu
99600000 |gnpénLnnd X 50.0 X
99600000 wohuwnwiyuwné X 17000.0 X
wwpuwlp
uu nnwy 1 200.0 1
~ pwdh( 01 funuip 06 nu DA opthighp60 -8 =
(uen g plunuhls duyfuubnf qrndumiuliul awuwﬂrwpqﬁu.{&;‘
SwnwinipinLl
99600000 $hu.wowlgnipniu hwuwjlplbph dphnipyd  UU npwd | 100000 100.0 1
70000000 | Jwulwghwnwluil SwnunugnLu uu npwd | 300000 [ 300.0 1
wlizwind gnuph wkunwywl gnuwigdwiu Uu A
____70332200)yyuywiiuh dbnp ptpnid i 100000 | 100.0 1
e e e 3
uignh UliyuiGnudg Un puhue :
= pWONG 05 funGp 0T MU0 pwahn 51
Whiwwnwlp
90511100 uwb. Jwpnpdwl w2huwitnwlplbip Q< nowa | 2200000 | 2200.0 1
SE— IW?DQSOO?O LunnthE&.'ngfygndwzfu Ul npwd | 300000 | 300.0 1
1ig ? U L‘[L’Uﬂp’tdn Llnuiu;g[}fg_ ﬁ_’iywqr}n,ﬁgwﬂqh 2wihiug
i it e uluihu.lu{g{ s g :
_~ PWOhG 06 tuniip 04 quiu 07 opwghn 62 =
Swnuwynipinll
98390000 wnnl.jnyukph nenwnpnLd dw npwd | 300000 | 300.0 6
50232110 huwd.\nuwy. guilig, wligy. Qg npwd | 21000000 21000.0 1
hwdwjlph inLuw.guligh
50232100 wnthu. uwwuwnpynud uu npwd | 900000 | 900.0 1
50231100 npwd | 900000 | 900.0 1




e Uupwilip P
39220000 |uybnputbp Ywuluws whwnwywl wnubph hef  UU npwd | 800000 | 800.0 1
SwnwjniLpinil 1
65310000 |qugh dwhuu Ul npwd | 600000 | 600.0 1
50110000| Jbptlwlubph W uwppuwynp.pup.unpngnud uu npwyd | 100000 100.0 1
79952100 nnbwbunwip, wlglwgdwl gnidwn ulu npwd | 300000 300.0 1
Swquphlugdwl hwdwn nthu
45231221 wywydwillbph gndin uu npwd | 50000 50.0 1
Qlnud zhwhnhuwgml wj| uwpp
99600000 tphuwnwiuiné X 3300.0 X
_— Opwaph UGguwiing tp <wlpwlppwlwl ndniga
=" plighG 09 funwip 01 neww 02 pwghp 51 = =
Uwnwlp
30192700 uytipubn’ nwpng hwéwhunn Gpbluwlbphl Uu npwd [ 390000 | 390.0 1
Sunud shwlnhuwgnn uyy uwnp
99600000 $hu wowlgnLpjnil Uhgl.nwpnghl uu npwd | 200000 | 200.0 1
o bﬁ‘;ﬁqﬁhi,:.ﬁU&L[anLﬂnUwu&wdhiﬁ‘:pdzu.dwuw JnipnLblep
SEE R EEdRG 07 uniip 02 pwu 01 dpwghn 61 = =
qunid shwlinhuwgnn dwhuu
99600000 nnwdwplnnph pnid. Uilp, Uu npwd | 300000 | 300.0 1
99600000 |$hu wowlgnusnll pnuduwl Uwwunwyny uUu npwd 700000 700.0 1
0 Gﬁujﬁgh"U.ﬁiiw[;nujg'Ung.w[:'t'ﬂ'ti.il’.’uhnu_==Lu'[ldu.rug wowlig. =
~— ~ pwiopl 10 unuip 07 qauu01 épwghp 54
Sunid shwilinhuwgnn owhiu
pwnUwu dwhuuh gnudwp X 1500.0 X
99600000 | Uy Lujwuwnltn pnLptihg X 2500.0 X
O wnwjnLpjnLlu
39296000 | 5wnybEwuwyubph qunwd Uu npwd | 400000 | 400.0 1
gnh Uadwnuip [Buithwenn 206nh YowuwuEnsnts
. pwidh@ 05 funiip 06 nuu 01 opuighp 58
90922000]‘Bwithwnnn 2Utph JUuwuwubndnLd uu npwd | 500000 | 500,0 6
Opwanph UGYwiiniip U/p wwhntunwih dnln
e T pWighti 11 untiip 01 pwy 02 onlughp 51 S50 = auel
Qlunwd shwunhuwgnn dwhuu
99000000 |U/p wuhniutnwhl $nln ' X 2508.3 X
GYwlnudp’ QynuqwinbinbuwluG UG0RwohGEph wiunywan
~ pldhl 04 funudp 02 quu'01 dpwighpn 5170 o =
99600000| ULwuliwpnich swnwinLpintu uu X 480.0 X
Opwanh UGYwlniip Ywjpninhbtph b thnnnglbiph qhnulmun.hﬁuuhuj
puidhb 04 hintip 05 nwu 01 Spuighn 58 =
45236000 thnnngutinh hwpeignid W fuwwwinnud Q< npwd | 5307934 | 5307.9
45236001 |thnnnglbiph hwppbgnid uUu npwd | 500000 | 500.0
71242000 |Uwhiwghd Uwhuwhuwizhy uu npwd | 400000 | 400.0
Uwpwlp
wtuwhughyubiph witnwnnnod
Opwgnh UOJwlniip Owiuwnwpngwlwl Ynpnipinl
= = pwdh0 09 pintdp 01 i 01 Spwahp 51 00 et e
Opwaph Utwlnuip: hwlghuwn,iowlnge L UpnG
51411000] hwhghuwn, Swlnye b YpnG UU | npwa | 100000 | 100
_ PWOhG 09 funitip 01 nluu 01 spuighp 51 & S
qunLU shuwlin. swipuu/hwnlwgned
99000000 Jwliwwwnpunbghl 21764.2 | 217642




